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ENG 2155/4155 Aspects of Chaucerian Language and Literature

Answer ALL  questions in Part I, and ONE question from Part II

PART  I   (50 %)

1. The Prologue to the Miller’s Tale. Lines 3109-3130.
3109    Whan that the Knyght had thus his tale ytoold, 
3110     In al the route nas ther yong ne oold 
3111     That he ne seyde it was a noble storie, 
3112     And worthy for to drawen to memorie; 
3113     And namely the gentils everichon. 
3114     Oure Hooste lough and swoor, “So moot I gon, 
3115     This gooth aright; unbokeled is the male. 
3116     Lat se now who shal telle another tale; 
3117     For trewely the game is wel bigonne. 
3118     Now telleth ye, sir Monk, if that ye konne 
3119     Somwhat to quite with the Knyghtes tale.” 
3120     The Millere, that for dronken was al pale, 
3121     So that unnethe upon his hors he sat, 
3122     He nolde avalen neither hood ne hat, 
3123     Ne abyde no man for his curteisie, 
3124     But in Pilates voys he gan to crie, 
3125     And swoor, “By armes, and by blood and bones, 
3126     I kan a noble tale for the nones, 
3127     With which I wol now quite the Knyghtes tale.” 
3128     Oure Hooste saugh that he was dronke of ale, 
3129     And seyde, “Abyd, Robyn, my leeve brother; 
3130     Som bettre man shal telle us first another.”
a)
Translate this passage into idiomatic present-day English. If you prefer, you may first provide a literal translation.
b) Transcribe lines 3109-3118 phonemically in such a way as to indicate Chaucer’s probable pronunciation.

PART  II   (50 %)

1. First give an account of the differences between the inventory of consonant phonemes in Chaucerian English and in present-day English (RP); then give an account of the main differences in the distribution of consonant phonemes in these two stages of the language. You should include examples for illustration.
OR

2. Give an account of the morphology of adjectives in Chaucerian English. You should include examples for illustration.

OR

3. A modern critic has said of ‘The Miller’s Tale’: ‘All the men suffer: the woman unjustly escapes scot-free. The implication is that women trick men and make them suffer’. Discuss this view of the tale, giving your own reasons for agreeing or disagreeing.
OR

4. 
Derek Brewer has said of ‘The Nun’s Priest’s Tale’ that ‘the actual plot takes up about one-tenth of the narrative, though the plot is fundamental to the whole poem’. Discuss this statement and give your own view of the structure and plot of the tale.
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